APP €3 LD

ST UDY L ENTRE

WEEK TEST Il
GENERAL STUDIES WITH GENERAL ENGLISH

1.  Match the following

Districts Hills

A. Dharmapuri 1. Sivan hills

B. Salem 2. Pachaimalai

C. Erode 3. Vathalmalai

D. Perambalur 4. Chalk hills
A B C D

a. 2 1 4 3

b. 4 3 2 1

c. 1 2 3 4

d.3 4 1 2

e. Answer not known

CUITHSHSI:

LOTGUL L MBIS6IT LDGREVEBGIT

A. sy 1. Faueir 1Dem6v

B. Gzeuid 2. UFMHF LDEM6V

C. mGyn(p 3. QUHBHEL LDEMEL

D. OQuyibugyrit 4. FHEWIGITIDLS (&6 TDBISH6I
A B C D

a. 3 4 1 2

b. 4 1 2 3

c. 2 3 1 4

d 1 4 2 3

2. Find out the correct statements.

1. The landmass of Tamil Nadu extends from 8°4'N to 13°35'N latitudes and
from 76°18’E to 80°20'E longitudes.

2. Its Western and Eastern extremities are defined by the Anaimalai Hills and
point calimere.

3. The northern extremity of the state is marked by Pulicat lake.

4. The southernmost point is Cape Comorin.

a.1,3,4only b. 2, 4 only c.1,4 only

d. All are correct e. Answer not known
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gilwmer gnBenp BHTHOH[HHDBLD.

1. swpmger Beotiugiy 8°4'N e o g wpaHev 13°35 au oI gib auenguievid,
76°18 Hps@ Siesd (pHev 80°20” HipdE HTesd aemyuigid LFaluleTeng.

2. SODBTL 196HT TG Gamgwins SLENGITLOEDEVULD, FIpsHE Gamgwins
CamousEsamIULD IENLOHIHI6ITEITET.

3. uwCaumar® gfl eu GaMguiTed SIELDHHICTENSH

4. @wiopemer Qe GHTguITe: SIEMLOHIHIGTTH

a.1,3,4 w’ @Bw b. 2, 4 L @B c. 1,4 w @Gw

d. simensaib & e. alenL Gafwealsdenso

Find out the Incorrect statements.
1. Gulf of Mannar and Palk strait separate Tamil Nadu from the Island of

Srilanka.
2. Presently, Tamil Nadu has 13 coastal districts
a.1only b. 2 only c. Both 1 & 2 are incorrect
d. None of these e. Answer not known

SHaupTen gmBens CHTHOHHESBMLD.

1. e  euemeN@GLT BB UTH  BHIFFHSH  SODET LD — ShaHwmeler
Cpadlpsdler 2 aTen @evmimaenwib Lifléaeaimer.

2. sBOouTwa SOWHTH 13 SLMBEHJ LTIl L HISme CaTemni(BeTengi.

a. 1w’ @b b. 2 ot Bib c. 1 wBuib 2 Heum)
d. ergleyievenev e. el OaMwaledenso

Find out the odd one regarding Western Ghats?

a. Perumalmalai b. Valasamalai c. Kottaimalai

d. Pagasura e. Answer not known

CuBed CHTLAFH wwemev LBBIW CUIGHHSTSH eeiTenBsS H6wIL 1.

a. GUIBHLDTEITLDENEY b. aleFDem6D C. GamenL  1DemeL
d. usmagm e. alewL Oz flwalsvensv

Arrange the following peaks of Eastern Ghats in Ascending order based on its
height.

1. Mazhamalai 2. Muganur 3. Kuttirayan 4. Shervarayan Temple
a.4,3,2,1 b.1,2,3,4 c.2,31,4
d.2 341 e. Answer not known

Ueteu(pld  SHIPSHGHOBHTLTEFS emevUleielien  FBITRISNeNT  DIHeT 2 WITSHH6T
SlglitenLulled gmieuflengitBEHSHeaLD.

1. LDPLOGN6V 2. pas@MT 3. GLIgITuler 4. Gaireugmuwiest Gsmailed
a.4,3,21 b.1,2,3,4 c.2,31,4

d.2,3,4,1 e. alewL GaMuwealsvemev

Find out the Incorrect pair.

a. Theni - Kumbakkarai

b. Coimbatore - Sengupathi

c. Virudhunagar - Ulakkai

d. Kanyakumari - Vattaparai

e. Answer not known
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sHeoupren Benenienl CHTHOHMH

a. Gzpel - GLDLISHDT
b. Gsmwbydgmi - QFmRIGLSH

C. aNhSBIBBIT - 9 _60HMD

d. seefwrgiof - QUL LLILITen(m

e. alemL Oz flwailsvenso

In which year the Vainu Bappu observatory located in Kavalur began its

operations?

a. 1957 b. 1976 c. 1975

d. 1967 e. Answer not known

obdH eWIH emeugn UTLL STUeTT euTeialuled OFHTenev@hHradd emwuwild CFuwIedLIL &

OaTLmESwg?

a. 1957 b. 1976 c. 1975

d. 1967 e. alewL OxMwaletenso

Match the following

A. Kanjirankulam Birds Sanctuary 1. Thiruvarur

B. Udayamarthandapuram Birds Sanctuary 2. Villupuram

C. Karikili Birds Sanctuary 3. Ramanathapuram

D. Oussudu Lake Birds Sanctuary 4. Kanchipuram
A B C D

a. 2 4 3 1

b. 4 3 1 2

c. 3 1 4 2

d. 4 3 p 1

e. Answer not known

QUTHSHSHIH:

A. BEhJTEIGHETD LIBENGUBET FJERITeOWID 1. lmeurmenT

B. 2 swionTéhsmeniyyid LBe»eusS6iT FJemTTeolLD 2. elapLiyyid

C. sflddel LBHEUSEIT FTeTTEOULILD 3. @JmoBTSHYTLD

D. eag@p gfl uBeeussT Fyewimeowid 4. smehdLTId

A B C D

a. 2 4 3 1
b. 4 3 1 2
c. 3 1 4 2
d. 4 3 2 1
e. alewL Oaflwealsvenso

Which river separates the Coimbatore plateau from the Mysore plateau?

a. Bhavani b. Moyar c. Noyyal

d. Amaravati  e. Answer not known

SHTEID 61hd Bl MGT LiLybluledmba CasmuwibyshamT L yepwill fdbaipg?
a. ueume b. Gurwrm C. OBTUILIED

d. suoymeugd) e. alewL Oafweaisoensv
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10.  Find out the Incorrect statements about Kolli Hills?
1. Has the largest cover of evergreen or Shola forest in the Eastern Ghats
2. Arapaleeswarar temple located on this range.
3. This mountain range that runs almost parallel to the west coast of South

India.
4. Jack fruit is a popular seasonal agricultural product of Kolli Hills.
a. 1,3 only b. 2 only c. 3,4 only
d.1,223,4 e. Answer not known

Came0ed ewev UBBIW Heuprer Fameds CHTHOSHBHBALD

1. Hwsde 0TLTFH WmevmaTGuBW LSBT HTHH6T DlevevH Cameney HTBHEH6I
DIFHBID  BHITEILILIH S GOT360T.

2. gptiueferveusm Bsmaled BphdH WeNeLHOHTL ML DimIDHBI6TENSI.

3. Osaipdwuralsr CoBE SLBEMIHE B@meUTEF CFe0S MBI

4. @wwemeoulled uweOTILIPD @B GUEUIILSHEHS Geuenment LiHey  alenenOLIT(HEMTS

2 ol

a.1, 3 @B b. 2 o @B c. 3,4 B
d.1,23,4 e. alowL Gafuwealsvemev

11.  Which one of the following is not the major island of Tamil Nadu?
a. Hare Island b. Bhavani Island . Quibble Island
d. krusadai Island e. Answer not known
LedTeu(mHeuaTeuBmIeT 61% SLOWBIL Q6T (LPHESIUI H6 D6l Slenluimg]?
a. (PWevsde| b. vl ey c. Gallled FHay
d. smeoL Fay e. alwL OxMwaledeneo

12.  Find out the correct statements.

1. The sand dunes formed along the coast of Nagapattinam and Thoothukudi
districts are called Teri.

2. Coral rocks are found at the head of Gulf of Mannar in the east coastal plain.

a.1only b. 2 only c. Both 1 & 2 are correct

d. None of these e. Answer not known

gflwmenr gnpenp BHTHOHHHDBLD.

1. mrsliuliged LOBEILD STHBIHSIQ LOTGULL_MBIGH61T 60 &L BamyGunmisefed
® (HUTSHSUILLL Loewied Gemiser ‘CHfl’ e1aim DIMWSHSLILIGSBSH.

2. Awded sLBBoIF  Fwbeaelll UGHuled o 6Tem  OFIDIMT  6UEMETEGLTATE0
LIGUGTLILITENME6IT  BHTewTL LB o1 m360T.

a. 1w’ @ b. 2 ot B c. 1 wBmib 2 &
d. ergleyiievenev e. alewL GaMuwealsvemev
13.  Match the following
Rivers Tributaries
A. Palar 1. Pambar
B. Thamirabarani 2. Suruliyar
C. Then Pennaiyar 3. Kiliyar
D. Vaigai 4. Chittar
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14.

15.

A B C D
a. 3 4 1 2
b. 4 2 1 3
c. 2 3 1 4
d.3 4 2 1
e. Answer not known
QUTHSHHIB
DL BISH6IT SIS MIB6IT
A. umeorm l. umburml (UMTDUET SEmI)
B. smfyuyemn 2. &mofl euml
C. QzpearOuemienswrimyg 3. aefuimy
D. eneuens 4. Fppryl
A B C D
a. 3 4 1 2
b. 4 2 1 3
c. 2 3 1 4
d.3 4 2 1
e. alewL G flwealsbenso

Find out the correct statements about northeast monsoon

1.
2.
3.
4.
a.

Coastal districts of TN get nearly 60% of their annual rainfall.
The interior districts of TN get about 40 - 50% of annual rainfall.
East coast region receives 100 to 200 cm of rainfall.
The rainfall received by the central & north western part is 50 - 100 cm.
1, 3 only b.2,4only c.1,3,4only d.1,2,3,4 e. Answer not known

QUL FPHE UhHeusSSTBHI CeTLTumer ghwrer sapens CHTHOHBHSM D

1. s0pETLYeST  SLBSMJ  TalLEEer 60 FHaisb  euengulleomer  Lewi6G
LenpLIGUTIleney  GlILINIS6ITmB6T.

2. SIODBTL QST o 6ToTaul LEiGeT 40 (pHev 50 FHaipld  euedguleomer  aubBLTHA]
LoewLpemW!  GLUIN3IE 63TN360T.

3. OB YT SpdE SLBBOIN UGHH6eT 100 (1pHed 200 GF.15 6ued] LDEHLDEDUIL
QIS a3 60T.

4. wHHw  wppd L CoBE  SWWHD 50 WHed 100 GF.L5  euedy  LMPEMWILI
QIS a3 60T.

a.1, 3w @Gw b. 2, 4 " B c.1,3,4 w @

d.1,23,4 e. alewL GaMuwealsvemsv

Match the following

Earthquake in TN Years

A. Puducherry 1.2011

B. Cauvery basin in Ariyalur district 2.2012

C. Palar valley region 3.2008

D. Chennai 4.2001
A B C D

a. 3 2 1 4

b. 4 1 3 2

c. 2 3 4 1

d. 1 4 2 3

e. Answer not known
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16.

17.

18.

QUTHSHHIB

BHLOPBHHH 60 Hl6VBBHHBHLD LT H6IT

A. yz156a 1.2011

B. afwenm wreulLsgHe0 stalfl ugems 2. 2012

C. umeorm UeTENHHTHEG LGHI 3. 2008

D. Gseener 4.2001
A B C D

a. 3 2 1 4

b. 4 1 3 2

c. 2 3 4 1

d. 1 4 2 3

e. alemL Oz flwalsvemnso

How many million hectares of the Tamilnadu is under rice cultivation?

a. 5 million hectares b. 4 million hectares
c. 8 million hectares d. 3 million hectares
e. Answer not known

SODBHTL gD eTdhHenent Levellulen QamdGLT upliuemalsd Gphed LWIfLLuGaEBE?

a. 5 Wevedel GamsGLT b. 4 flevedwieir OamaBGLT
c. 8 evedwiei GamaBGLT d. 3 Wevedle GamsGLIT
e. alewL G flwealsdenso

Find out the incorrect pair.

Cropping Season Harvesting Month
I. Sornavari - July - September
II. Samba - January - February
I1I. Navarai - February - March
a. I only b. II only
d. None of the above e. Answer not known
sHeauprer Semenienwldh CHTHOSHME.
uuifG  umeutd SIBIeUENL  LOTHLD
I. Qaniremreur - oramev — QFLILIDLIT
II. gour - mareufl — LIlyeur
I1I. peueny - Wayeuf — womiTé
a. I ol @G b. II ot ®Bib
d. ergleyiievenev e. alewL Gxfuwealsvemev
Match the following
Pulses Districts
A. Bengal Gram 1. Kanyakumari
B. Horse Gram 2. Nagapattinam
C. Red Gram 3. Coimbatore
D. Green Gram 4. Krishnagiri

A B

an o
W R RN
=W N R A
N =W

1
3
2
4
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e. Answer not known

QUT(HSHHIS:

LICBLIL]  GUEDEBHEIT LOTGUL_L_BIcB6IT
A. OFTemi_d BHL M6V 1. serefwm@Lof
B. OQameiten Lwml 2. BTSUUL 196D
C. sleuyb LB 3. GsmwibL T
D. uFeman uwm 4. Fmagenraif

A B C D
a. 2 1 4 3
b. 4 3 2 1
c. 1 2 3 4
d. 3 4 1 2
e. alemL Oz flwailsvenso

19.  Find out the Incorrect statements.

1. Groundnut is the major oilseed of the Tamilnadu.

2. Groundnut is grown in Coimbatore, Thanjavur & Kanyakumari districts.
a.1only b. 2 only c. Both 1 & 2 are incorrect
d. Both 1 & 2 are correct e. Answer not known

FHeaupren gnBens CHTHOGHBHHHALD.

1. MlevdasLemev, SLODBTL Q6T (pHdWl eTewiGeniul aldHaitl LUlTTE@LD.

2. GamubUSHHIT, SHeEhFTeuT WLBEID SE@IWTGT Tl L hiSefed  [HevddL 6m60

DIFBLD ST ILIBE G360

a. 1w @ b. 2 1o (b c. 1 ompib 2 seup)

d. 1 wBmib 2 & e. alewL Gafwealsvemso

20.  Find out the correct pair.
a. Cinchona -1060 to 1290 mts height in Anaimalai hills.
b. Cardamom - Hills of Madurai region at an elevation of 915 to 1515 mts.
c. Cashew - Theni district
d. Pepper - The warm & wet slope of Eastern & Western Ghats of TN
e. Answer not known
gllwmen Semenienwd GCHTHOH®
a. FaiBsmem - gmHITL 1,06010 (1pgHe0 129015 o wifld 6uenJ 2 616  HLENEITLOEN6LLI
LGS
b. gevdatul - gBHHTL 91518 (1pHeL 151515 aUdT 2 66N  IDHIEDTOUIF  HBHU6TT6T
LOEM6VLILIG S
C. WM - CGxpell LOTeuL L LD
d. eng - SOWET eeTen GuBE OFHTLTFS 1mev WBEBID HpdG OFHTLTFSA
weneudeilesr Ffleysefed LOSHOGUILD OBBID FFLOTET HTEUHEN6D 2 6T  LiGHHH6N
e. alomL Gafweaisvenso

21.  Find out the Incorrect statement.
1. Namakkal, Salem, Erode and Coimbatore forms the Poultry hub of Tamil
Nadu.
2. The state has three major fishing harbours, three medium fishing harbours
and 369 fish landing centres.
a.1only b. 2 only c. Both 1 & 2 are incorrect
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22.

23.

24.

25.

d. None of these e. Answer not known

SHOUBTET FnBenB HWIBLILIQHBALD.

1. BTDSHH60, Bg6vLD, FQyT(H, wppitd  CamwIbLSSITT S FUl LOTGUL_L_MRIG6IT
GamAliLiewTenenTHeiTlel eMIDWILDTS 2 6iT6IT6T.

2. SOWHTH  cpadip (WA Benligdh  HIOBIPSHIGET,  pim Bl Hlenev
BTN HSHImB(LPSLD WBBID 369 et N9 HHeNmibenend CaTewIBheiTeni.

a. 1w’ @b b. 2 o @b c. 1 wBmib 2 seum

d. ergleyievenev e. alowL GaMuwealsvemev

Find out the correct statements.

1. Fishing sector contributes 1.25% of Tamilnadu’s economy.

2. Cuddalore, Sivagangai and Tirunelveli districts stand second with 9% of
inland fish catch each.

a.1only b. 2 only c. Both 1 & 2 are correct

d. None of these e. Answer not known

gilwnen gnpenp BHiTHOHHEHDBLD.

1. slppmiger,  QummemTHTsHHed  Werlgdh  slempwrers  1.25%  FsHaisb
umiseflenus OFUISBEI.

2. L, Fousmms LBBID HHOmeOGae) WL LEIS6T HeoT 9 FHalsh o 6MHTL (b
et 2 _BuUHEH OFuig IHGHH60 @TeNILTD S H&Hle0 2 _6iT6re.

a. 1w’ @w b. 2 ol B c. 1 wBmib 2 &
d. argiafsvemen e. alowL Gafuwealsdemen
What is the annual Average rainfall of Tamil Nadu?
a. 915 mm b. 945 mm c. 950 mm
d. 930 mm e. Answer not known
SOIDHTL g6 el Frmafl enLpulene| elelelene,?
a. 915 .18 b.94510.8 ¢. 9501086 d.930 0.8 e. alewL OxNweaisvenev
Find out the Incorrect pair.
Season Rainfall
a. North east Monsoon -47%
b. South west Monsoon -37%
c. Summer season -14%
d. Winter season -4%

e. Answer not known
sHeauprer Semenienwldh CHHOSHME.

LI(H&UBITEULD e LPLIGILITL 6

a. QULADSHEG L(HeUSSTBHI - 47%

b. Qx&6LBE LHaISHTHEI - 37%

c. GammemLd HTevD - 14%

d. @efliT smeuld - 4%

e. alwL G flwailsenso

Match the following

A. Sathanur Dam 1. Crocodile farm

B. Manimuthar Dam 2. Mugger Crocodiles
C. The Papanasam Dam 3. Karaiyar Dam
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D. Amaravathi Dam

4. Pleasure Boating

A B C D
a. 4 3 2 1
b. 2 4 3 1
c. 1 2 3 4
d 1 4 3 2
e. Answer not known
QUTHSHHIS.
A. FTHHT  Dlenemnt 1. (PSHem6VL!  LIGHIT6w 60T
B. wenll(psHamm oiememt 2. FHI0L H6V (LPHEN6VSHGEIT
C. utupTad Sienemnt 3. SHTOJWITT &60600T
D. oiopmeug) sjemen 4. uL@ Feurf
A B C D
a. 4 3 2 1
b. 2 4 3 1
c. 1 2 3 4
d 1 4 3 2
e. alewL G flwealsbenso
26.  Match the following
A. Nachiarkoil 1. Temple Jewellery
B. Eathomozhi 2. Veenai
C. Nagercoil 3. Coconut
D. Thanjavur 4. Kuthuvilakku
A B C D
a. 2 4 3 1
b. 1 2 3 4
c. 4 3 1 2
d 3 2 1 4
e. Answer not known
QUTHSHHIS.
A. prgdwnit Camaled 1. Gamuied Henadmel
B. g58xmGiomg 2. aleneuor
C. praiBsralsd 3. GpmisTul
D. sehamey 4. GHHelendE,
A B C D
a. 2 4 3 1
b. 1 2 3 4
c. 4 3 1 2
d.3 2 1 4
e. alenL Oz flwailsvemnso
27.  Find out the correct statements.

1. Tamil Nadu accounts for 60% of leather tanning processes of India.
2. Tamil Nadu produces 37% of all leather footwear, garments and components.
a.1only b. 2 only c. Both 1 & 2 are correct
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28.

29.

30.

31.

d. None of these e. Answer not known

gilwmer gnpenm CHTHOSHH:

1. @hdHwuraled, GCzmed uFHBID OCHTHvsmIBeNe0 HOPBTH 60% 2 BuSHaw
SleMbHBSI.

2. Bzmed smevewiidmei, GHTed ewL HeiT, WBEID BHTeL o LGUTHLS6IT 2 MBLHHule0
SODHETG Hig UkseliuTs 37% olefbsBgl.

a. 1w @G &M b. 2w G &f c.1& 2@y o
d. ergleyievenev e. alewL GaMuwealsvemev

Where is TANCEM's stoneware pipe unit located ?

a. Ariyalur b. Virudhunagar c. Alangulam

d. Virudhachalam e. Answer not known

el GHFHev  FHOWHTH  FOWwew.  HWHHH  BBHevET  GHOTUI  CHTHBFTEN60
SIMLOHFHI6TENSHI?

a. oiflwer b. alm&ImEST C. SLEVMIGENLD

d. el@mssraeod e. alenL Gafwealsvenso

Find out the correct pair.

a. Sivagangai - Moderate population
b. Dharmapuri - High population
c. Thanjavur - Sparse population

d. None of these

e. Answer not known
gflwnen Sementenul GCHiHol%HH

a. deusmnms - OFLOTET LO&BH6T OHTEND
b. sy - OIHB 10HH6IT OHTND

C. SHehamey,T - GMBeUTET LDHH6T O\FHTensd
d. eglefiebenev

e. alwL Ggflwalsdensn

Arrange the following districts in decreasing order of literacy rate in Tamil
Nadu?

1. Dharmapuri 2. Kanchipuram 3. Thoothukudi

4. Nilgiris 5. Chennai 6. Kanyakumari
a.6,3,54,2,1 b.5,6,4,2,3,1 c.4,6,2,53,1
d.6,5,3,4,2,1 e. Answer not known

LNedteu(mLd LOTGULL_hI& 6061 sevalliiey VALY 3¥: o) SiglienL_uiled [ON]TE)
auflew s ILBSHSHe D

1. &y 2. &Tehdlygid 3. IMHHHSY

4. meodll 5. QFeiTenent 6. sestelwm@ Lo

a.6,3,54,2,1 b.5,6,4,2,3,1 c.4,6,2,53,1
d.6,5,3,4,2,1 e. alewL GzMuielsdemev

Find out the correct statements.

1. Tamil Nadu has a total railway track length of 6,673 km.

2. There are 690 railway stations in Tamilnadu

a.1only b. 2 only c. Both 1 & 2 are correct
d. None of these e. Answer not known
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32.

33.

34.

35.

gilwmer gnBenp BHhOH[HHDBLD.

1. swppTLger Cwrshs SmUUl uteguler perbd 6,673 &Geom LT SLEGLD.
2. OB IGeD CTHBHD 690 @Juled [HeNEOWIRIEET © 6166,

a. 1w’ @G b. 2 o @G> c. 1 wpmib 2 &

d. ergleyievenev e. alewL GaMuwealsvemev

Find out the Incorrect statements.

1. Nagapattinam is an intermediate port.

2. It handles the major coal & ore traffic in TN.

3. Chennai is the first Principal port in the country for handling containers.

4. The ports in Tamilnadu are currently capable of handling over 70 million
metric tonnes of cargo Annually.

a.1,2, 3 only b.1,2, 4 only c.1,3,4 only

d. 2, 3,4 only e. Answer not known

FHouper gnBens CHTHoHM.

1. prsliulgend T Bl Hene SHIMB(LPSLOTGLD.

2. @3 s0LaHH0 DiFE Hevdall WLBEBID SHTHISHMENH MBWTEHD HIEDB(LHSHLOTS
o GiTeNgyl.

3. Qgeener SHIMMB(LPSHLD FIHGLI QUL L BRIBmeNSH D& LITEYHLD [BITL_LQ 63T
SHIMB(LPBHIBATE0 (LHevTeUH! GLITIUI  SHIENBLPSLOTELD.

4. FOPBTL 9T  SHIOBPSHIG6T gBSHSTY 70 Wevedlwielr Ol fd L6t Frs@Esamen
LUTBCHTBILD  6MBWITETHBIBSI.

a. 1,2, 3w’ @Gw b. 1,2, 4 w6 c. 1,3, 4w 6w

d.2, 3,4 v’ @G e. alew Oz Mwaleenso

Choose the incorrect statement.

1.
2.

The annual temperature of Tamilnadu ranges from 18°C to 43°C.
Winter temperature in Tamil Nadu varies from 15°C to 23°C.

a. 1 only b. 2 only c. 1 & 2 are incorrect
d. None of these e. Answer not known
geupten gapon CHTHCIHG

1. slbpTlgesr e Geulipenso 18°C (1pghed 43°C auedy SL&LD.

2. swssHH0 GafiTsmen Geuliupemeowtearg 15°C 1pghed 23°C auedy OTBILIGHBS!.
a. 1 w @ b. 2 wl @G c. 1 & 2 sam

d. esiafeoemen e. alewL GaMuwealsvemev

How much percentage has been contributed by TN to the India’s exports?
a.13.1% b.12.2% c.14.3%

d.15.4% e. Answer not known

@hFHwreler gBBIoduled HUOWSHH LRSI 1HHMme FHAHLOMEGLD?

a.13.1% b.12.2% c.14.3%

d.15.4% e. alenL Oafweaisoensv

Find out the correct statement.

1.

1 | Page

According to National Forest Policy 1988, a Minimum of one-fourth of the
total geographical area must come under forest cover.
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36.

37.

38.

39.

2. The total forest cover of Tamil Nadu is lower than the forest area cover as
mentioned in the National Forest policy 1988.

a.1only b. 2 only c. Both 1 & 2 are correct

d. None of these e. Answer not known

gflwrer gamens CHTHOHMH

1. 1988 Bxdlw euensCamerenasulsy, Lall urliilsd GmpBhSULFD HTSH60 @b
UGFH STHBeNTeL GUUL G Shmdd Geuemi(BLb.

2. BxAw eauas0sTaTens 1988 Bev GBIULIL (heiten euaTlLGHdW ol HLOLDSSHSH 6T
Curshs sThselear LTl GHMBaITE 2 6iTeNg).

a. 1 (B b. 2 wl @Gw c. 1 & 2 a

d. egiefevenco e. alenL Gafwealsvemnso

How much percentage of India’s forest cover comes under Tamil Nadu?

a. 2.99% b. 3.99% c. 1.99% d. 4.99% e. Answer not known
@hHwmaled o etenm HTHH6N60 IHHMe FHAIHLD SODBHTLI9eT URSTILTES 2 6ieng)?
a.2.99% b. 3.99% c. 1.99% d. 4.99% e. alewL Ozflwaiseney
India would be the most Populous Country in the year

a. 2020 b. 2022 c. 2027

d. 2050 e. Answer not known

abhd Shemiged @HHWT 2 HClw DFH WEH6TOSHTnD OEBTemwiL.  BTLTGW 6T60n
SeWISPILLILIL (HelTerg?

a. 2020 b. 2022 c. 2027

d. 2050 e. alewL O fNwaledensv

National Disaster Management Authority Act was passed in

a. 2005 b. 2006 c. 2007

d. 2008 e. Answer not known

Bxpdlw GuilLy Geomewtentd pemewil FULLD 6% DewiB Odmemiheuriil L gi?
a. 2005 b. 2006 c. 2007

d. 2008 e. alewL O MNuwealsenen

Consider the following statements

Assertion (A):  Tamil Nadu receives lower rainfall than Kerala

Reason (R): Tamil Nadu is in windward side.

a. Both A and R is correct; R explains A

b. Both A and R is correct; R doesn't explain A

c. A is correct; R is incorrect

d. A is wrong; A is correct

e. Answer not known

Leteu(bD SnBmIBemen H(HHHe0 OoTes

amml (A): SODBETG Cayenmeney il GemeuTer WeWPLCUT el CUNISIBSI.
amyenrd (R): SODHTH STHBCBT L Hauled DIMLOHBHIENTENS.

a. (A) oppd (R) Syewipd Ffl, Reemug A alBsrer gflwmer alensasom@Lb.
b. (A) B (R) SrewiGd Ffl R eemig A aliBarer gfluimer alendsinsds0
c. Agf, R seam

d. A sam, R &j

e. alewL Ggflwalsvenso
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40.

41.

42.

43.

Match the following

A. Railway equipment’s 1. Mathura

B. Petro Chemical Industry 2. Jabalpur

C. Bicycle Industry 3. Bhilai

D. Automobile Industry 4. Ballarpur

5. Ludhiana

A B C D

a. 5 3 4 2

b. 3 1 5 2

c. 3 4 5 1

d. 3 4 2 1

e. Answer not known

QUT(HSHHIS.

A. ®rulevBeal 2 _LIB]FeNImIS6I 1. wgiyT

B. QulGrmredw GeuglliGLmmL &6
CHTOBFTEN60 2. LIGOLLT

C. WgFeuexig QFHTHBFTENGL 3. eomul

D. aunsarg OaThBamenso 4. LIGLGOTTLLT

5. @urglwimeT

A B C D

a. 5 3 4 3

b. 3 1 5 2

c. 3 4 5 1

d. 3 4 P 1

e. alewL Gxflwealsdenso

SAIL was founded on

a. 19 January 1954 b. 20 January 1954 C. 26 January 1954

d. 27 January 1954 e. Answer not known

SAIL pmieuend e11GuUTgI o (heurdaiul L g)?

a. 1954, eweufl 19 b. 1954, sgesteufl 20 C. 1954, sqevteurfl 26

d. 1954, meeufl 27 e. alewL GaMuwealsvemev

The first Indian expedition to Antarctica had landed on ___

a. 6th January 1980 b. 6th December 1981 c. 9th December 1981
d. 9t January 1982 e. Answer not known

(PH60 @HHW Lwend G DIWILTTI9ETne! CFapenLbhshp Hernd _ ?

a. 1980 aeufl 6 b. 1981 &buy 6 c. 1981 19&buy 9

d. 1982 meeufl 9 e. alowL GaMuwalsdemev

The largest research station in Antartica is
a. Maithri b. Bharathi c. Dakshin Gangothri

d. MC Murdo e. Answer not known
Sl s Talsd o eitem WOsLOUflw SITuIFd Beneowld 61gI?
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44.

45.

46.

a. MGl b. urya) c. sl dlas1 BRBHTHH

d. Qs pyGLr e. alenL Gafwealsdenso

The sex ratio of Tamil Nadu is (According to census 2011)

a. 942 females/1000 males b. 980 females/1000 males

c. 996 females /1000 males d. 1054 females/1000 males

e. Answer not known

SLOLDBTL 19 68T umeVl 6ot & HLb . (2011 841D () D& &6ITOSHTEn S
& 601 O\BBHUILTGITLIG )

a. 942 Quewiset/ 1000 &yeTH6iT b. 980 GuewideT/ 1000 SyeuTH6

C. 996 Quewtaei/ 1000 SyemIH6IT d. 1054 Quewiseir/ 1000 SyemIH6iT

e. alemL Oz flwailsoemnso

Match the following:

Iron Ore Iron Content

A. Magnetite 1.72%

B. Hematite 2.50%

C. Limonite 3.70%

D. Siderite 4.30%
A B C D

a. 1 2 3 4

b. 1 3 2 4

c. 3 1 2 4

d 3 1 4 2

e. Answer not known

QUTHSHHIP.

BB HTHIHSH6I BB Si6ey

A. GudearenL L 1. 2%

B. GamienL 2. 50%

C. a9Gwmemnet 3. 70%

D. dlLenyi_ 4. 30%
A B C D

a. 1 2 3 4

b. 1 3 2 4

c. 3 1 2 4

d 3 1 4 2

e. alewL Oxflwealsvenso

Which of the following agencies are involved in the exploration of minerals in
India?

i) ONGC ii) BGML iii) IMB iv) HCL v) NALCO
a.i, iv, v b. ii, iii, v c.i, v

d. all the above e. Answer not known

@hHwmaled Seaiomisemen SUIe| CFUIeudHed FBHLL (BTN HnICIIHIS6T 6Teneu?

i) ONGC ii) BGML iii) IMB iv) HCL v) NALCO
a.i,iv, v b. ii, iii, v c.i,v

d. GuBamplu SIISHHID e. alenL Gafwealsvemnso
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47.

48.

49.

Match the following:
Coal Carbon Content (%)
A. Bituminous 1.30-35%
B. Peat 2.35-45%
C. Lignite 3.70 -90%
D. Anthracite 4.>95%
A B C D
a. 1 2 3 4
b. 2 1 4 3
c. 3 1 2 4
d 1 2 4 3
e. Answer not known
QUT(HSHHIS.
K60 B amjueiar siemey (%)
A. 1 Bhererd 1. 30-35%
B. i 2. 35-45%
C. edbement 3. 70-90%
D. sybgrmenat 4. >95%
A B C D
a. 1 2 3 4
b. 2 1 4 3
c. 3 1 2 4
d. 1 2 4 3
e. alewL O flwealsvenso

Consider the following statements:

i) Kamuthi solar power project is a photovoltaic power station spread over an
area of 2500 acres in Ramanathapuram district.

ii) In this plant the solar panels are cleaned daily by a self-charged robotic

system.
a. i, ii correct b. i only correct c. ii only correct
d. i, ii incorrect e. Answer not known

LeTeU(HLD SnMBBISeN6T SLITUIS.

i) swd @Gflu BB HULD eaus SIToBTSUTD wial LD &upguled 2500
g&a] ugliuenaled Sienwbhlenen @b 6l WaTeanpsHd L6sIHemeulLD.

ii) @deeien @Gl Cuemevamer Hrelwms  GrrGumliipds (B  cpeold  Herd

SHSILGSSILBSBS!.
a. i, ii &1 b. 1 & c.ii ' B &1
d. i, ii meum e. alewL GaMuweisdemev
Which of the following is the most widely distributed tribal group in India?
a. Gonds b. Bhils c. Khasi
d. Angami e. Answer not known
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50.

51.

52.

53.

LeiteumeusieuBmien, @bhHwmalsd WSa|D UFeIeTs STEIILGD LIPEIGIQUles G
61&I?

a. Gareipme b, Lleverdasel C. &gl

d. omsmi e. alewL Oz fwalsvensv

Consider the following statements:

L. In India, 23 major languages were spoken by about 97 percent population.

IL. 22 languages excluding English are mentioned in the eight schedule of the
Indian constitution.

a. I, I are correct b. I only is correct c. II only is correct

d. Both are incorrect  e. Answer not known

LN6TaU(HLD  6UTHES WLIBIBHEM6T  BHa6T oS,

L. @bHwraled 97 FHaldld wWHENTe0 23 (WoHHw GombseT CualILBHES eTBse.

II. QEGe  Halitda 22 Gwmfser  @bsHluw  SFFluevemliesl eIl LTeug
I Lauenentuled GMILLIL Ll (Beiermeor.

a. Il &M b.I w' @ &f c. Il w @b &M

d. &yewiBd Heuml e. alewL OxMwaledenso

Choose the incorrectly matched pair/s:

i 21st Amendment Act - 1967

ii. 71st Amendment Act - 1991

iii. 92nd Amendment Act - 2003

a.iandii b. ii only c. iii only
d. none e. Answer not known

SHaupTen Semenienld BiTe| CFuis.

1. 21-0ug SFlweoemolill FULHHBSSD - 1967

il. 71-0ug SFFlwevenioll] FULSH(HSHSHD - 1991

1ii. 92-augl SFFwevemolill FLL FH(BHSHSHWD - 2003

a.iwBmibd ii b.ii ol G c. il ol @b
d. egiedevemev e. alewL Gafuwealsvemnsv

India launched its first geostationary satellite on

a. April 29,1980 b. June 19, 1981 c. July 11, 1983
d. January 2, 1980 e. Answer not known

@hHwT H&1 (WPFHeL Lalblemens Gawmens GCsrenen e11GLTH galluig)?
a. 1980, gugev 29 b. 1981. g8e1 19 c. 1983, ofemev 11
d. 1980, ggeweufl 2 e. alewL GaMuwealsvemev

Match the following:

Conference Year Place

A.Cop 15 1. 2009 i. Cancun

B. Cop 16 2.2010 ii. Copenhagen

C. Cop 17 3.2011 iii. Paris

D. Cop 21 4.2015 iv. Durban

a.a-1-iii  b-2-ii c-3-iv d-4-i

b.a-1-ii  b-2-i c-4-iii d-3-iv

c.a-2-ii  b-1-ii c-3-i d-4-iv
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54.

55.

56.

57.

d.a-1-ii b-2- c-3-iv d-4-iii
e. Answer not known

QUIT(hSSI%:

LOMBIT(H SL601(H BL1b

A.COP 15 12009 1. GaaIGHe6T

B. COP 16 2.2010 ii. GaTLETOIME® 6T
C.COP17 3.2011 iii. umflerd

D. COP 21 4.2015 V. LiTuest
a.a-1-iii  b-2-ii c-3-iv d-4-i

b.a-1-ii b-2-i c-4-iii d-3-iv

c.a-2-ii  b-1-ii c-3-1 d-4-iv

d.a-1-ii b-2-i c-3-iv d-4-iii

e. alewL Oxflwealsvenso

Which of the following statements about Thiruppur is/are correct?

i It is located on the banks of the Noyyal River

ii. It has an average elevation of 295 meters

iii. ~ Thiruppur bags the fifth fastest growing city in India.

a. i, ii, iii b. 1, ii c. 1, 1il d. ii, iii e. Answer not known

eteupld SnBmiseiied SHBULT uBml Fflwimerened eeneu?

1. B QBT SBBHEISMIUIC) DIMLOHBIGTOTS.

ii. gyngflurs 295 WBLLT o wgshaled SIMLbHBHI6NT6NS.

iii. @pHureled s GCasTs aETIHS QUGB IEEIEGIM 5-aiF L SHmSL
CUBBIeTENTSI.

a. i, ii, iii b. i, ii c. i, i d. ii, iii e. aflenL OQzfwelsvenso

India’s largest wind farm is located at

a. Kamuthi b. Jaisalmer c. Muppandal

d. Aralvazhmozhi e. Answer not known

@bgHwraler OsLOUlw STBBTEMEVLI LGN SIenLObHSHIeNem @)L 1?7

a. s(pd) b. Ggguigediom C. (PLILIHGH6V

d. eyyevauruiGom e. alewL Gafuaisvemnso

Which is the World’s Largest Mangrove Forest?

a. Pichavaram b. Gulf of Kutch c. Sunderbans
d. Bhitarkanika e. Answer not known

o eudlal sl FHINL HevdsTH 61gl?

a. W&smeurid b. & euem@LT C. &HbSHTLIGH
d. Usjseisr e. alenL Gafwealsdemnso

Choose the correct statements:

i. Tribes of Tamil Nadu are concentrated mainly in the district of Nilgiris.
ii. There are around 38 tribes and sub tribes in Tamil Nadu.

a.i, ii b.ionly c.ii only

d. none e. Answer not known
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58.

59.

60.

gilwmer euntddSwmismen GxiTe GFulis.

1. SOLDBTLIgEd LILDBIG .U N6aTT 61T HeogIf] LOTeUL L& 360 (PSHSBTEHLOWITS

ST 600t ILI(H & 63TB6ITT

. OB IYed &oTT 38 UPBIGQUIIT LBEBID  SHewewT LIPRIGIQUIET &SN
©_GiTeTe.

a.i, ii b.i wl G0 C.ii wl (B

d. eglefevemev e. alewL GaMuwealsvemev

Match the following:

Rivers Origin

A. Indus 1. Nasik

B. Brahmaputra 2. Raipur

C. Mahanadi 3. Chemayungdung

D. Godavari 4. Kailash range
A B C D

a. 4 2 3 1

b. 4 2 1 3

c. 4 3 2 1

d. 4 3 1 2

e. Answer not known

QUTHSHHIB

SLBIBH6IT GxpmespIiL LD

A. Fibgl 1. mprdls

B. Qpibwysagm 2. IUICILT

C. wsrpg) 3. GFDLOTUBIL H

D. Gsrameufl 4. MBHEUTEF LOMEOHOBTL T
A B C D

a. 4 2 3 1

b. 4 2 1 3

c. 4 3 2 1

d. 4 3 1 2

e. alewL Oxflwealsvenso

The State Disaster Management Authority (SDMA) is headed by

a. Governor b. Chief Minister c. Home Minister

d. Chief Secretary e. Answer not known

ompleo GuflLT Geureiientd SLMEMILSHBEG HENEVEMLD GUSILILIGUT?

a. LEHBIT b. (psevemiogait C. 2 GHINB DIMIDFFT
d. semevenip GFuwieiT e. alewL Gafuwealsvemnso

Kurangani Forest Fire happened on
a. March, 11, 2018 b. March, 12, 2018 c. March, 13, 2018
d. March, 14, 2018 e. Answer not known

GImsel &M(6H & aludHaH HoLOUBBESH .

a. 11 wrrg&, 2018 b. 12 wmirg, 2018 c. 13 omr&, 2018
d. 14 g, 2018 e. alewL GafNuwaledenso
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61.

62.

63.

64.

65.

66.

8

If selling price of an article is g times its cost price, the profit per cent on it is:

a.120% b.160% c.40% d. 60% e. Answer not known

8

@ Gurmefer alBumer ealemen, SHGH@IMLU HILHS alemevenwis GuTev g LDL_BIG

eTeoley, elBuene W HTer &eoml al(pSHHTH sleleuerey?
a.120% b.160% c.40% d. 60% e. alewL Gapfwalsdenso

An equivalent ratio of 7 : 4 is
a.1:3 b.15:8 c.21:12 d.14:18 e. Answer not known
7:4 @1 Fomer aldHOTRIS]
a.1:3 b.15:8 c.21:12 d.14:18 e. alewL Gapfwalsdenso

Selling price of a commodity is increased by 15% in a year and then the new price
is decreased by 15% in the next year. Find net increase or decrease in the selling

price.
a. no effect b. 2% decrease c.2.25% decrease
d. 2.25% increase e. Answer not known

m Ourmeie ealBumer eaflwey @@ SLeWIgeL 15 FHaisD DFHSNESILGSHBSI.
UBe udw ealme SIbHH Lm0 15 FHaiHD  GHOBHBUILGHBSI. alBLIen 60T
allemeoullelt Hlar DH S DleVevH GHEMBLIL| 6l6il66T6),?

a. aleweney gadevemev b. 2% @Gmmay c.2.25% @omay

d. 2.25% eigs e. alewL Gxfwaledenso

If the ratio of cost price and the selling price is 5: 6, the gain per cent is:

a.20% b. 33 % % c.25% d. 30% e. Answer not known

Qm Oummeier SILdsalemev LBBID alBumer allemey SLBwIBBISEG SenL Guiwme
al&HD 5:6 eedllev, BeomL ail(pSHBT(H:

a.20%  b.33 %% c.25% d. 30% e. alowL Gafwalsdenso

The third proportional to (x2 - y2) and (x-vy)

a Y p. 22Y

. C. X+Yy d. x—-y e. Answer not known
X—y X+Yy

(Xz—yz) BB (X—Y) & cpamTaus eSS HTaws.

a XY p, XY C. X+Yy d. x—-y e. alowL GaMuelsdemsv
X—y X+Yy
. . . 1.2.3 _ )
If Rs 782 be divided into three parts, proportional to E: 5: 2 then the first part is
a. Rs. 182 b.Rs.190  c.Rs. 196 d.Rs.204  e. Answer not known
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67.

68.

69.

70.

71.

72.

12
o 782 — & Eigigmm eyl LUGHHeTs LIfMa@GDd umpgd Seubnled (PpHed UGS

616516017

a. Rs. 182 b. Rs. 190 c. Rs. 196 d.Rs. 204 e aleonL GQafNwelsvensv

A fruit seller bought 10 boxes of grapes at 3210 each. One box was damaged. He
sold the remaining boxes at ¥250 each. Find the profit/loss percentage

a.7.14% loss b. 10.14% loss c. 7.14% profit

d. 10.14% profit e. Answer not known

@m up elwrufl 10 Oully SHyrliwgsamen @@ ULl @210 @iHld  eUTHISEITT.
SIF0 @ Qully FHmliewsd e alhIHBaH.  BsHWeTen GULIHmeT @ GLLIg
5.250 eI alemevds@ alIBapmT. Seoru / BadL FHeIHD 6.

a. 7.14% meyL b b. 10.14% pegL1b c. 7.14% eomuib

d. 10.14% evmubd e. alewL Gapfwalsdenso

The ratio of the number of boys and girls in a college is 5 : 6. If the percentage
increase in the number of boys and girls be 20% and 25% respectively, what will
be the new ratio?

a.6:7 b.7:6 c.4:5 d.7:8 e. Answer not known
@@ deourfluiled o 6fTem  LOTEWTEUTHGT LOBWID  LoTewialdEhHHTr  aldmsd 5 @ 6
LOIT 60T GMIT &b 61T 63T oTensTemil e Ul 60l(HH S 20%-1b LOMBMILD Lo 6016 & 617631

oremtenlBmBUNIBHEH ~ 25%-D 2 WTHHILBSBS.  eTefled  LoTEwIEUTH6T  LOBBID
LomenialsEhdbTer LUSHw all&FH  eTeine?

a.6:7 b.7:6 c.4:5 d.7:8 e. aleowL Gafwalsdenso
What is the missing number in the proportion? 4 : 13 :: 64 :

a. 168 b. 198 c. 208 d. 228 e. Answer not known
CaThasaILLL aldssHdled allbulL eew wrg? 4:13:: 64 :

a. 168 b. 198 c. 208 d. 228 e. alowL GaMuwealsdemev
If 5a +3b:4a+7b=23:4, thena:bisequal to

a.9:8 b.7:11 c.8:9 d.11:9 e. Answer not known
5a+3b:4a+7b=3:4, aafled a:b & aldzmd sremis.

a.9:8 b.7:11 c.8:9 d.11:9 e. alowL GaMuwealsdemev

From each of two given numbers, half the smaller number is  subtracted. After
such subtraction, the larger number is 4 times as large as the smaller number.
What is the ratio of the numbers?

a.4:1 b.4:5 c.5:2 d.1:4 e. Answer not known
Car@dslul L @y 6auiseied eealdauTamsled @HbaID, FABluw  eewienlled LTS
&0 SHSILGS B oty sPHH LUIpg, OGuflw eewemimeng, FpBlw  eTevwrenemill
Gumev 4 wLMIE CuisTes BHIHBH. DbHS camisaier aldSHb ererer?

a.4:1 b.4:5 c.5:2 d.1:4 e. alowL GaMuelsdemsv

A person distributes his pens among four friends A, B, C, D in the ratio

oo_l =
NG
o'~
ov.l.l—\

. What is the minimum number of pens that the person should have?
a. 45 b. 57 c. 65 d. 75 e. Answer not known

20| Page APPOLO STUDY CENTRE PH: D44-24333436, 42867553, 9840226187



73.

74.

75.

76.

77.

78.

79.

QU  BUT SHaRILD o 6ten  Buemssenen A, B, C wwmpid D o&fwu  mreng

1111
pewTLITaH 6 enL G gizigigm@ﬁm al@HHHe0  UBTHHeMBH M. SIbH  BUT
CuBBHBsE Beuemigwl GHOBHSLLF GueaTohaseiler eTenienlbend oelalene?
a. 45 b. 57 c. 65 d. 75 e. alewL Gapfwalsdenso

A television set was sold for X 1,170 after giving successive discounts of 35% and
10% respectively. What was the marked price?

a. 1800 b. 1700 c. 2000 d. 1900 e. Answer not known
QTLT  HemEpUseT wWwedpBw 35% wBpid 10%  eemBeuTy @  OFHTeneudsaTL L
QuLlg ¢5.1,1706@ aIBslUl LS 66led, DHaT GBHSH alensv 6Teen ?

a. 1800 b. 1700 c. 2000 d. 1900 e. alowL GaMuwelsdemsv
The compounded ratio of (4:5), (6:7), (8:9)is ?

a.67:121 b.69:123 c.64:105

d.55:127 e. Answer not known

(4:5),(6:7) oppid (8:9) —a1 sl B BB sHmewias?

a.67:121 b.69:123 c.64:105

d.55:127 e. alewL OsMweaisoensv

Mugilan purchased 30 kg of rice at the rate of ¥10 per kg and 35 kg at the rate of ¥
11 per kg. He mixed the two. At what price per kg (in ¥) should he sell the
mixture to make a 30% profit in the transaction?

a.12.5 b.13 c.13.7 d.14.25 e. Answer not known
wdevast @ HGeum T10 a@p almevuled 30 HGeoorm ofiflewwiugd, @m &G 11
aaip  alemeouled 35 &HlGeomr  oflFfedwiugd  eummIS EOITT. ST OleUailFeTenL LD

QAMTHS HOHDIT. DT, DbHD Hevenauenl e HBeum sletien allemevd@ alBBTEL
SIhFL ufiiomBsBsSHler sauruieons SiaumdbE 30 alpssTh S6eoTUD SlenL dELb.
a.12.5 b.13 c.13.7 d. 14.25 e. alewL Gafwealsvemso

“Ahimsa’” means infinite love, which again means infinite capacity for suffering”.
The above is a quote by

a. Rabindranath Tagore b. Abdul Kalam c. Swami Vivekananda
d. Mahatma Gandhiji e. Answer not known

Who said this?

“Woman is the companion of man, gifted with equal mental capacities’

a. Kalpana Chawla b. Mahatma Gandhi c. Rani of Jhansi

d. Helen Keller e. Answer not known

In whose Biography do you find this statement?

The wife is not the husband’s slave but his companion and his help mate
a. Pearl S. Buck b. Mahatma Gandhi c. Sarojini Naidu
d. Nelson Mandela e. Answer not known

Fill in the blank with the correct answer from the following options
“My experiments, with Truth” is an autobiography of
a. Nehru b. Indira Gandhi c. Mahatma Gandhiji
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84.

85.

86.

87.

88.

89.

d. Winston Churchill e. Answer not known

Any Tradition, however ancient, if inconsistent with morality, is fit to be
banished from the land. Untouchability may considered and ancient tradition
These words are said by

a. Pandit Jawaharlal Nehru b. Gokhale c. Gandhiji

d. Raja Ram Mohan Roy e. Answer not known

Pick out the statement which is wrong about Mahatma Gandhi.

a. Mahatma Gandhi was a ceaseless crusader of women’s equality
b. Gandhi was no advocate of blind adherence to tradition

c. He was an extraordinary lover of truth

d. Gandhi considered women to be unfit for any position or task
e. Answer not known

"I would sweep them out of existence if I had the power"

Who said this?
a. Indira Gandhi b. Mahatma Gandhi c. Rajiv Gandhi
d. Nethaji Subash Chandra Bose e. Answer not known

“If non-violence is the law of our being, the future is with women”
a. Bharathiyar b. Gandhiji c. Nethaji =~ d. Nehru e. Answer not known

Who said these words?

“A nation without a vision is like a ship cruising on high seas without aim or
direction”.

a. Gandhiji b. Rajiv Gandhi c. Jawaharlal Nehru

d. Indira Gandhi e. Answer not known

Who wrote the Book “The Discovery of India?”
a. Vallababhai Patel =~ b. Mahatma Gandhi c. Jawaharlal Nehru
d. Nethaji e. Answer not known

‘Jai Hindh" - whose inspiring words of salutation are these?
a. Gokhale b. Subhash Chandra Bose c. Bala Gangadara Tilak

d. Mahatma Gandhi  e. Answer not known

“The highest result of education is tolerance”. Who made this statement?

a. Rabindranath Tagore b. A.P.J. Abdul Kalam c. Helen Keller

d. Oscar Wilde e. Answer not known

Helen Keller speaks about the word in “The Mystery of Language”.
a. Book b. Water c. Tree d. Pencil e. Answer not known
Who was Helen Keller?
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91.

92.

93.

94.

95.

96.

97.

98.

99.

a. Paralympian sports star b. Mentally challenged  c. A reformer
d. Weak flesh and willing spirit e. Answer not known

“The story of My Life” is the autobiography of
a. Mahatma Gandhi  b. Jawaharlal Nehru c. Nelson Mandela
d. Helen Keller e. Answer not known

Who told the following statement?

“Tolerance is the highest result of education”

a. Dr. Abdul Kalam b. Mahatma Gandhi c. Helen Keller
d. Subash Chandra Bose e. Answer not known

Anne Sullivan came to teach Helen Keller at the age of
a. 11 b. 20 c.21 d.12 e. Answer not known

Whose father is ‘Banarsi Dass’?
a. Hellen Keller b. Dr. Salim Ali c. Kalpana Chawla
d. Subash Chandra Bose e. Answer not known

Kalpana Chawal was born on .
a. 16th January 2003 b. 21st of July 1969 c. Ist of July 1961
d. 1t of July 1976 e. Answer not known

Who accompanied Kalpana Chawla to the flight school?
a. Father b. Brother  c¢. Husband d. Friend e. Answer not known

‘Listen to the sounds of nature........

Take good care of our fragile planet’.

Who said this?

a. Dr. Salim Ali b. Mahatma Gandhi c. Kalpana Chawla
d. Jawaharlal Nehru e. Answer not known

Kalpana Chawla was a famous
a. astrologer b. astronaut d. teacher
d. doctor e. Answer not known

Choose the birth place of Kalpana Chawla chawla
a. Bombay b. Haryana (karnal) c. Delhi
d. Thanjavur e. Answer not known

“I could then see my reflection in the window and in the retina of my eye the
whole earth and sky could be seen reflected”

Who is the speaker?
a. Helen Keller b. Sunita Williams c. Dr. A.PJ. Abdul Kalam
d. Kalpana Chawla e. Answer not known
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106.
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108.

109.

“She left India as a student, but she would see the nation of her birth, all of it,
from hundreds of miles above” —

George W.Bush spoke these lines about whom?

a. Kalpana Chawla b. Sunitha Williams c. Meena Alexander

d. Chithra Diwakaruni e. Answer not known

I was not born for one corner, the whole world is my native land”.

Who said this?

a. Portia b. Kesavan Nair c. Kalpana Chawla
d. Mrs.Hendorson e. Answer not known

"The Ganges valley looked majestic" who uttered these words?
a. Portia b. Kalpana Chawla c. Antonio
d. Bassanio e. Answer not known

"

the journey matters as much as the goal”.

Who said this?
a. Dr. A.P.J. Abdul Kalam b. HW. Long fellow c. Kalpana Chawla
d. Carl Sandburg e. Answer not known

Dr. Salim Ali is an
a. Ornithologist b. Opthalmologist c. Opportunist
d. Oncologist e. Answer not known

Identify the person who fought for the preservation of many important forests,
like the Bharatpur, Bird sanctuary and Silent Valley.

a. Medha Patkar b. Zai Whitaker c. Dr. Salim Ali

d. Arundhathi Roy e. Answer not known

"The Book of Indian Birds" is a famous work by
a. Zai Whitaker b. Dr. Salim Ali c. Paul Laurence Dunbar
d. Lakshmi Mukundan e. Answer not known

Tantia Tope, a childhood friend helped to fight against the British for which of
the following celebrities.

a. Helen Keller b. Rani of Jhansi c. Subash Chandra Bose
d. Nelson Mandela e. Answer not known

Rani of Jhansi was associated with
a. Battle of Plassey b. Sepoy Mutiny c. British Government
d. Indian National Congress e. Answer not known

Who among the following is an anti-apartheid revolutionary?
a. Abraham Lincoln b. Mahatma Gandhi c. Nelson Mandela
d. Helen Keller e. Answer not known
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119.

"Everything must yield to the paramount duty of finishing this war". These are
the words of

a. Subash Chandra Bose b. Nelson Mandela c. Jawaharlal Nehru

d. Abraham Lincoln e. Answer not known

Who does “me” refer to in the lesson “The One Minute Apology”?
a. The Colonel b. Edwin Stanton c. Abraham Lincoln
d. Scott e. Answer not known

Kalpana chawla’s first space mission began on
a. November 19,1997 b. November 19, 1987

c. November 19, 1998 d. December 19, 1997
e. Answer not known

“Any Tradition, however ancient, if inconsistent with morality, is fit to be
banished from the land. Untouchability may considered and ancient tradition
These words are said by

a. Pandit Jawaharlal Nehru  b. Gokhale c. Gandhiji
d. Ambedkar e. Answer not known

In which year Nelson Mandela was released from prison
a. 1990 b. 1992 c. 1993 d. 1989 e. Answer not known

Who is associated with ‘Rivonia Trial’
a. Nelson Mandela b. Gandhi c. Abraham Lincoln
d. Rani Lakshmibai e. Answer not known

Grand old Bird Man of India
a. Dadabai Naoraji b. Salim Ali c. A.O. Hume
d. None of these e. Answer not known

The father of Non-alignment movement was
a.]. Nehru b. Hardikar ¢. Krishna Menon

d. Sardar V. Patel e. Answer not known

J. Nehru was the General Secretary of Congress twice at

1. Gaya session - 1922 2. Nagpur session - 1920
3. Kakinada session - 1923 4. Madras session - 1927
a.1,2 b.1,4 c.3,4 d.2,3 e. Answer not known

Dr. Salim Ali centre for Ornithology and Natural History is situated in
a. Coimbatore b. Kanpur c. Karur
d. Chennai e. Answer not known
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130.

Helen’s biography ‘The story of my life’ has been translated into
languages
a.53 b. 25 c. 40 d. 50 e. Answer not known

Helen Keller was born in
a. Alabama b. California c. Newyork
d. Lebanon e. Answer not known

Kalpana Chawla started to work at NASA from
a. 1986 b. 1987 c. 1988 d. 1989 e. Answer not known

Select the incorrectly matched on about Salim Ali
Padma Bushan - 1954

Padma Vibhushan - 1976

Nominated to Rajya Sabha - 1985

John C. Philips memorial award - 1969
Answer not known

o0 oR

Mandela day was celebrated on

a.July 16 b.July17  c. July 18 d.July 21 e. Answer not known
The childhood name of Rani Lakshmi Bai was

a. Manikarnika b. Jhansi c. Rupavathi

d. Pra e. Answer not known

Abraham Lincoln was born on

a. January 12, 1809 b. March 12, 1809 c. February 12, 1809
d. April 12,1809 e. Answer not known

Who was the 16th President of the United States?

a. Abraham Lincoln b. George Bush c. John F.Kennedy
d. Regan e. Answer not known

Who said Kalpana Chawla as ‘Terrific astronaut’?
a. NASA b. Rakesh Sharma c. Don Wilson
d. Jean - Pierre Harrison e. Answer not known

A long walk to freedom is the autobiography of
a. Subash Chandra Bose b. Abraham Lincoln c. Nelson Mandela
d. Mahatma Gandhi e. Answer not known

In which year Nelson Mandela got the Nobel peace Prize?
a.1983  b. 1992 c. 1994 d. 1993 e. Answer not known

26| Page APPOLO STUDY CENTRE PH: D44-24333436, 42867553, 9840226187



131.

132.

133.

134.

135.

136.

137.

138.

139.

140.

141.

142.

143.

How many years did nelson Mandela served in prison?
a. 37 years b.27 years c.17years  d.47years e. Answer not known

The “Fall of Sparrow” was an autobiography of
a. Salim Ali b. John Henry c. A.O. Hume

d. W.W. Hunter e. Answer not known

Lakshmibai National University of physical Education is located in
a. Meerut b. Faridabad c. Rajkot d. Gwalior e. Answer not known

Nehru met M.K.Gandhi at the congress session in
a. Gujarat b. Delhi c. Lucknow d. Allahabad e. Answer not known

The forerunner of our NCC training today was

a. S.C.Bose b. Gokhale c. Patel d. Kariyappa e. Answer not known
Honest Abe is the nick name of

a. Sachin Tendulkar b. Gandhi c. Abraham Lincoln

d. Abe De Villiers e. Answer not known

Every dawn is preceeded by a thick darkness” - who said this
a. Subash Chandra Bose b. Helen Keller c. Nelson Mandela
d. Abraham Linclon e. Answer not known

Whose famous lines are these -

He would not let them take away my soul -

Possessing that, I still possess the whole

a. Kalpana Chawla b. Helen Keller c. Jansi Rani
d. Thillaiyadi Valliyammai  e. Answer not known

Whose autobiography is this?
“Towards Freedom”

a. Jawaharlal Nehru = b. Mahatma Gandhi c. Kasturba Gandhi

d. Indira Gandhi e. Answer not known

Jhansi Rani was only years old at the time of 1857 revolt

a.19 b. 21 c.23 d. 25 e. Answer not known
Kalpana Chawla passed away in

a. 2003 b. 2001 c. 2005 d. 1999 e. Answer not known
The second space flight of Kalpana Chawla was days flight

a.13 b. 15 c. 12 d. 16 e. Answer not known

Kalpana means
a. imagination b. creation c. innovation
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d. dedication e. Answer not known
144. Helen learnt new words on the first day of Anne’s teaching
a.15 b. 20 c.25 d. 30 e. Answer not known

145.  Who is the lion of Bengal?
a. Bhagat Singh b. Lala Lajpat Rai c. Subash Chandra Bose
d. Rash Behari Bose  e. Answer not known

146.  ‘Nursing Brotherhood” was organised by
a. Tagore b. Rajaji c. Beni Madhav Das

d. Netaji e. Answer not known

147.  “Therefore, ultimately, woman will have to determine with authority what she

needs”.
Who gave this message?
a. Mother Teresa b. Kalpana Chawla c. Helen Keller
d. M.K. Gandhi e. Answer not known
148. S.C.Bose came to ____ in tamilnadu after forming Forward Block.
a. Aruppukottai b. Ramanathapuram c. Kamudhi
d. Madurai e. Answer not known

149.  Salim Ali’s books has inspired ___
a. MK Gandhi b. ] Nehru c. IG Gandhi
d. SC Bose e. Answer not known

150.  Salim Ali fighted with at the end of his life
a. Leprosy b. Cancer c. Leukaemia
d. Coronary Artery Disease  e. Answer not known
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